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A few weeks after my article about Dednat6 appeared in TUGBoat Michael
Barr sent me an e-mail asking how I would do in Dednat6 two diagrams from
the diagxy manual (sec.1) and two other diagrams (sec.2)...

1 “A few samples”

The section “A few samples” in the diagxy manual — section 4.9 or 5.9, de-
pending on the version — has big two diagrams, one based on a 5 x 8 grid and
one based on a triangle.

1.1 The 5 x 8 diagram

Barr’s 5 x 8 diagram uses splines for the outermost curved arrows, and he
hardcodes their controls points: look for the ‘c, (3000,0) , (2700,2800) ,p’ and
the ‘c, (-300,0), (-600,2400),p’ in the last two ‘\arrow’s. In dednat6 the
“low-level coordinates” of nodes are not trivial to get; I just hacked a way to
insert these ‘c, (_,_), (_,_),p’s into ‘\morphism’s and guessed values that gave
a result that looked reasonably well.



% Source code for Barr's diagram:
%

$$\bfig
\def\f{\bar £}
\def\g{\bar g}
\def\h{\bar h}
\let\t\tau
\node A411(0,2800) [(\h(\g\£))\t_A]
\node A13(1200,2800) [((\h\g)\£)\t_A]
\node 421(0,2400) [\h((\g\f)\t_A)]
\node A22(600,2400) [\h(\g\f\t_A)]
\node A23(1200,2400) [(\b\g(\f\t_A))]
\node A32(600,2000) [\h(\g(\t_Bf))]
\node A33(1200,2000) [(\h\g) (\t_Bf)]
\node A34(1800,2000) [((\h\g)\t_B)f]
\node A42(600,1600) [\h((\g\t_B)f)]
\node A44(1800,1600) [(\h(\g\t_B))f]
\node A52(600,1200) [\h((\t_C)g)£]
\node A54(1800,1200) [(\b(\t_Cg))£]
\node A62(600,800) [\n(\t_C(gf))]
\node A63(1200,800) [(\h\t_C) (gf)]
\node A64(1800,800) [\h(\t_C(gf))]
\node A73(1200,400) [(\t_Dh) (gf)]
\node A74(1800,400) [((\t_D)h)g]
\node A75(2400,400) [(\t_D(hg))f]
\node A83(1200,0) [\t_D(h(gf))]
\node A85(2400,0) [\t_D((hg)£)]
\arrow[A11°A13;]
\arrow[A21°A11;]
\arrow[A21°A22;]
\arrow[422°423;]
\arrow[A23°A13;]
\arrow[A32°A22;\h(\g\t_£)]
\arrow[A327A33;]
\arrow[A33°A23; (\h\g)\t_f]
\arrow [A33"A34;]
\arrow[A42°A44;]
\arrow [A42°432;]
\arrow[A447A34;]
\arrow[A52 A42;\h(\t_gf)]
\arrow[A52"A54;
\arrow[A54 A44; (\h\t_g)f]
\arrow[A627A52;]
\arrow (462"

\arrow[A83"
\arrow[A85°A75;]
\arrow|r|/{e{>}0/_15pt/}/ [A75 A34;\t_{hg}f]
\arrow|1|/{e{>}0/~15pt/}/ [A62"A21;\h(\t_C(gf))]
\arrow|11/{e{>}0"{c, (3000,0) , (2700,2800) ,p}}/ [A85"A13;\t_{hg}f]
\arrow|r|/{e{>}e {c, (-300,0), (-600,2400) ,p}}/[A83"A11;\t_{h(fg)}]
\efig

$$

% Source code for its translation to Dednats:

D diagras barr-dednaté
W x 100 410 480 430 +40
a3

|
|
|
|
|
|
D 2 | | |
w2 21 A73 > 474 > 475
D 2 - -

w0 2 | |
WD 27 83 ~-mnmno> 485
w2

D ren AL I3
D ren 421 A22 A23 =
WD ren  A32 A33 34
Woren M2 A
WDren  AS2  As4
WD ren  A62 AG3 AGd
D ren 73 AT4 4TS
i a3 4 =

QBOGDNE A (RAD\e_&
ABCOEDNE D) \BOGEVe K (g (\eVe_A))
> (g BO) (W) (VB (e BT
\n((\g\t_ B ChO\g\e_BYE
_ Qh(ve_cg)e
\n(\&_3(g0) (\n\e_0) (gf) \n(\s_C(@D)
(VB (g6) ((\e D)W (\t_D(hg))E
\e_D(n(gn) \e_D(@D)

B

(C# Horszontal arrous:
11 A13 >
421 422 -> 422 028 >
K32 433 > A33 434 >
442 haa -
K52 454 >
462 463 > A63 A64 >
A73 474 > AT4 ATS >
83 485 >

# Simple vertical arrove

AL A21 < 13 25 <
422 432 < plabel= r \B(\g\t.f) A23 A33 <- plabel= r (\M\D\E_f
432 042 <~ 436 haa <~

A2 K52 <~ .plabel= © \n(\t_gf) A4 AS4 <~ .plavel= © (\i\t_p)f
452 462 <~

63 A73 < plabel= r \th(g) AG4 AT4 < plabel= r \t_{(hg)}
A73 A83 <~ AT ABS <

# Curved vertical arrove

* \e_ihght

1 \B(\e_C(ge))

©°{c, (-300,-2835) , (-800,-100) ,p} -plabel= x \t_{h(fg)}
(<, (3000,-2000) , (2700,-500) ,p} _plabel= 1 \t_{ngh

85 413 > m

CECECEEECE5 55555555 5555888

w )
D enddiagran
D

\def\£{\var 1}
\def\g{\bar g}
\dof\n{\bar 1}
\et\t\tau
\diagibarr-dodnaté}
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Output of Barr’s code:

h(rc(g/))

Th(fg)




Output of my conversion of it to dednat6:

h(rc(gf))

Th(f9)

h(rc(9f)) = (h1c)(9f) — h(rc(9f))

Tﬂb(gf) TT(h/g)f

(rph)(9f) — ((T0)h)g — (7p(h9g)),

T |

o(M(9f)) ———————7p((h9)f)



1.2 The triangle diagram

The source in diagxy for this triangle diagram can be found in diaxydoc.tex.
I don’t have support for “holes” in dednat6 yet, so I simplified the original
diagram a bit; note that in the dednat6 version some arrows cross.

$$\bfig
\node 1(1000,800) [Y]
\node 21(0,0) [X]
\node 22(2000,0) [Z]
\node aa(300,400) []
\node ab(450,400) []
\node ba(1550,400) [] %D diagram TAC
\node bb(1700,400) [] %D 2Dx 100 +60 +60
\arrowlal/{@{>}e/~20pt/}/[21 1;f] ‘;.D 2D 100 Y .
.. %D 2D -
\arrow|b| [2171;g] % 20 /v
\arrow[aaab;\beta] YD 2D 445 X —-mmmm >z
\arrow[bb ba;\delta] % 20 ~ N
\arrow|b| [1°22;i] ;l; « )): § : .curve= ~15pt sl Z
\arrowlal/{@{>}e/~20pt/}/[1722;h] %D Y Z -> .curve= "15pt s1~ h
\arrow/{@{>}@/~16pt/@<5pt>"(.4)k}/[2122;] D Y Z > . .plabel= b i
\arrou/{e{>}0/"15pt/e<5pt>"(.4)k}/[21°22;] X2y cowrves Tagpe Pl
N WD XZ > .plabel= m j
\arrow/{@{>}@<6pt>|(.4)j| (.5)\hole}/[21°22;] W X7z -> .slide= -15pt .plabel= m hf
\arrow/{@{>}e<-10pt>| (.4){hf}|-\hole}/[21 22;] %D X Z -> .curve= _15pt .slide= -15pt -plabel= m ig
- i 90 %D
\arrow/{0{>}6/_16pt/@<-10pt>_(0.4){igh}/[21°22;1 | | 7, e as o plabel= a \bota
\node ¢(1000,150) [] %D Y Z harrownodes 15 15 nil <- .plabel= a \delta
\node f(1000,-200) [] %
aroul 11" B x3rwrome ¢ e ey
\node d(1100,25) [1 ) ' e
\node e(1100,-75) [] %D enddiagran
. %D
\arxjoulrl [ed;s] s8pn
$$\ef15 \text{Edrx:} \quad \diag{TAC}
$$

Dednat6:

Barr:




2 Other diagrams

%D diagram XCX

%D 2Dx 100 +30  +30
N %D 2D 100 A --> X -=> C
%D diagram HAFAGAKA %D 2D N
%D 2Dx 100 +30 +15 +15  +30 9D 2D N
%D 2D 100 A %D 2D vl /
%D 2D VAR %D 2D  +30 Y
%D 2D v v v %D 2D
%D 2D +25 HA --> FA --> GA --> KA %D ren A ==> C
%D 2D %D
%D (C A HA > A FA |-> A GA |-> A KA -> %D (( A X -> .plabel= a £ X C -> .plabel=a g

D  HA FA -> FA GA -> .plabel= b TA GA KA —> | | /D A Y -> .plabel= 1 kf ¥ C -> .plabel= r g\ell

! e %D X Y -> sl_ .plabel= 1 k
#D A FAGA midpoint -—> 4D X Y <- s1” .plabel= r \ell
4D 1)) %D )
%D enddiagram %D enddiagram
%D %D
$$\pu $$\pu
\diag{HAFAGAKA} \diag{XCX}
$$ $$
|
|
Y
HA FA GA KA
TA
f g
C X C
k||¢
kf .
Y
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